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OUTKEL#HN: 249 INBELSV: 1014 18

(WP )
(- LT B 41 41 82 14.4 67.6 N1
HELE IR INEF BT 51 48 99 28.8 70.2 =1
3 fir N7 43 40 83 12.0 71.0 N1
4 fir AN 46 42 88 16.8 71.2 ANE
5% Wil 52 49 49 98 26.4 71.6 N1
6 iz B s 42 42 84 12.0 72.0
7 hL i Y 42 42 84 12.0 72.0 N1
8 iz sl KL 41 43 84 12.0 72.0
9 fir TRH e 54 54 108 36.0 72.0 A
10 fi7 HIR A5 49 45 94 21.6 724 H
11 {7 S H 55 44 99 26.4 72.6
12 7 WA 53 46 99 26.4 72.6
13 iz i i 54 55 109 36.4 72.6
14 7 Pa Ll = 47 45 92 192 72.8
15 iz W)l Z8=% 49 44 93 19.2 73.8
16 7 A = 49 49 98 24.0 74.0
17 7 KRR ALE 49 42 91 16.8 742
18 fiZ B R 57 46 103 28.8 742
19 iz /N B 54 49 103 28.8 742
20 iz 52 LRI 51 45 96 21.6 744 TRE
21 7 e Re & 50 46 96 21.6 744
22 fr ey — 49 47 96 21.6 74 4
23 fir AN 49 47 96 21.6 74 4
24 fir B ) 1| i e 49 47 96 21.6 744
25 fir TiRE 7 1t 43 46 89 14.4 74.6
26 7 23 A 40 42 82 72 74.8
27 v B[] fill 49 45 94 19.2 74.8
28 v/ AR 15 51 43 94 192 74.8
29 fir R & 48 46 94 192 74.8
30 iz kB A R 48 46 94 192 74.8 TRE
31 fiL Az 49 45 94 19.2 74.8
32 fir N NESE 47 52 99 24.0 75.0
33 fir RKH K 60 51 111 36.0 75.0
34 fif IR L5 54 57 111 36.0 75.0
35 iz =W ] 40 45 85 9.6 754
36 fir N A — 48 49 97 21.6 754
37 fir B —B 46 51 97 21.6 754
38 fi PRI il 49 46 95 192 75.8
39 fir ferg Pl 47 41 88 12.0 76.0
40 7. /N B 51 42 93 16.8 76.2 TRE
41 fir =L = 46 47 93 16.8 76.2
42 iz Bl Rz 49 56 105 28.8 76.2
43 iz i E1T 46 40 86 9.6 76.4
44 1 Bl JeH| 51 47 98 21.6 76.4
45 iz R S 51 47 98 21.6 76.4
46 iz SELLT A 41 38 79 24 76.6
47 7 5 i B 52 51 103 26.4 76.6
48 7 G LT 56 47 103 26.4 76.6 L EER S
49 7 A==V 45 39 84 72 76.8
50 i HEH ik 43 41 84 72 76.8 TRE
51 fr ZNAE=PN 50 46 96 192 76.8
52 fr = ER 46 43 89 12.0 77.0
53 fiL B I 46 48 94 16.8 772
54 fif fif] FH 5241 43 44 87 9.6 774
55 fr FKH B 49 43 92 144 77.6
56 fir W 1| SR 55 49 104 26.4 77.6
57 B AN EZ 5 42 43 85 72 778 3407
58 fir WA B 49 48 97 192 778
59 fir B X 46 44 90 12.0 78.0
60 fir Hi 2 44 46 90 12.0 78.0 TRE
61 fir IRHY sEf 52 50 102 24.0 78.0
62 fir R B 56 51 107 28.8 78.2
63 fir HA A2 52 48 100 21.6 78.4
64 i1 HTH A 51 49 100 21.6 78.4
65 1% ELGH R Al RE 49 51 100 21.6 784
66 fir ol 60 52 112 33.6 784
67 iz atiie SCHE 47 46 93 144 78.6
68 % K R= 46 47 93 144 78.6
69 fif ] 48 50 98 192 78.8
70 7 R EE 57 53 110 31.2 78.8 REE
71 1 e 46 45 91 12.0 79.0
72 1 T A 52 51 103 24.0 79.0
73 i1 HETE 2 52 51 103 24.0 79.0
74 4% ELR i 59 56 115 36.0 79.0
75 1 Nz S 46 38 84 4.8 792
76 fir I 50 46 96 16.8 79.2
77 1 Gl vz 57 51 108 28.8 792
78 fir LR 22 58 50 108 28.8 79.2
79 frL /IR 222 59 54 113 33.6 79 .4
80 i Ebk M- 58 55 113 33.6 79.4 TRE
81 iz EEA 52 54 106 26.4 79.6
82 fif Lk 8a 56 50 106 26.4 79.6
83 iz —~IR BER 40 40 80 0 80.0
84 fir e Al 50 54 104 24.0 80.0
85 iz WH R 51 53 104 24.0 80.0
86 fiL I s 56 53 109 28.8 80.2
87 iz i B A7 E 45 45 90 9.6 80.4
88 fiL M/ HH 52 50 102 21.6 80.4
89 iz HE % 49 53 102 21.6 80.4
90 fz TRE J& L 49 46 95 144 80.6 RE
91 fir 5 R 52 55 107 26.4 80.6
92 iz K BT 45 43 88 72 80.8
93 fir i EEAGH] 51 49 100 192 80.8
94 fif /IR R 59 53 112 31.2 80.8
95 fir AR A 57 55 112 31.2 80.8
96 fir WA T 5 42 39 81 0 81.0
97 fir e & 43 43 86 4.8 81.2
98 fir R Mk 51 47 98 16.8 81.2
99 fi WH St 49 49 98 16.8 81.2
100 17 KA & 49 49 98 16.8 81.2 TRE
101 fiz iy 2 v F 51 47 98 16.8 81.2
102 7 il ks 75 53 57 110 28.8 812
103 fiz HhHE K 53 50 103 216 81.4
104 {7 e H: R 49 47 96 14.4 81.6
105 fiz R 53 48 101 192 81.8
106 i i WER 51 50 101 192 81.8
107 fiz BAREA 58 55 113 31.2 81.8
108 i )1 2% 49 45 94 12.0 82.0
109 i AV NS 64 54 118 36.0 82.0
110 fi% g8 fifi 53 46 99 16.8 822 RE
111 {7 JERE 38 45 47 92 9.6 82.4
112 {2 [ ZND§ 43 49 92 9.6 82.4
113 {7 HRAR 2 I 56 48 104 21.6 82.4
114 £ L Ak 54 50 104 216 82.4
115 {7 EVERIIES 51 53 104 21.6 82.4
116 7 PN RS 59 57 116 33.6 82.4
117 f7 THK & 53 56 109 26.4 82.6
118 7 YH AE 41 37 78 4.8 82.8
119 7 YN 43 47 90 72 82.8
120 iz JFH B 49 46 95 12.0 83.0 RE
121 f7 AH FEHE 61 58 119 36.0 83.0
122 {7 B IR 51 49 100 16.8 83.2
123 {7 YR IEE 55 45 100 16.8 83.2
124 i NGy A 56 56 112 28.8 83.2
125 fiz I F— 51 47 98 14.4 83.6
126 fiz A A 60 50 110 26.4 83.6
127 iz W TRH 57 53 110 26.4 83.6
128 i BRI BV 53 50 103 192 83.8
129 i BIR F5K 58 57 115 31.2 83.8
130 {7 INR I — 43 41 84 0 84.0 RE
131 17 BT F 50 46 96 120 84.0
132 i KB #iR 56 57 113 28.8 84.2
133 {7 DR IEE 59 47 106 21.6 84.4
134 17 wE AT 54 52 106 216 84 .4
135 fif & HI5A 51 48 99 144 84.6
136 fiz 4 T RR 53 46 99 14.4 84.6
137 17 /N AT 52 47 99 144 84.6
138 i R B 64 57 121 36.4 84.6
139 fir HH - 57 59 116 31.2 84.8
140 7 I B 49 48 97 12.0 85.0 RE
141 f7 i It ] 3C 58 51 109 24.0 85.0
142 f7 P i1 53 49 102 16.8 85.2
143 {7 A EHI 56 51 107 21.6 85.4
144 {7 B B 50 43 93 72 85.8
145 fiz AFH 1k 51 54 105 192 85.8
146 fiz HH 7= 51 54 105 192 85.8
147 {7 (A T 53 50 103 16.8 86.2
148 {7 HAK —i& 58 57 115 28.8 86.2
149 f7 HR i 54 54 108 21.6 86.4
150 £z R # 60 60 120 33.6 86.4 RE
151 7 FRH KX 62 58 120 33.6 86.4
152 fiz B KiG 55 46 101 14.4 86.6
153 fiz TN 5 52 52 104 16.8 87.2
154 {7 AN RiESTE 60 56 116 28.8 87.2
155 {2 BHH 7 — 57 52 109 21.6 87.4
156 fiz 5L 61 53 114 26.4 87.6
157 {2 s B9 57 55 112 24.0 88.0
158 i G 54 56 110 21.6 88.4
159 fiz HH o 221 55 48 103 144 88.6
160 17 R T2 48 55 103 144 88.6 TRE
161 fiz Kl = 67 58 125 36.4 88.6
162 fiz A e 50 46 96 72 88.8
163 fif i R 53 51 104 14.4 89.6
164 fir SHER 58 58 116 26.4 89.6
165 fi% AL R 5 69 57 126 36.4 89.6
166 i i S 54 48 102 12.0 90.0
167 fiz VR 55 59 114 24.0 90.0
168 i % H 63 61 124 33.6 90.4
169 fiz T T 8= 52 44 96 4.8 91.2
170 7 LI~ fE 56 52 108 16.8 91.2 TRE
171 7 FRAS P — 58 46 104 12.0 92.0
172 iz FZHT IR 56 56 112 192 92.8
173 fiz T ) 67 60 127 33.6 93 .4
174 7 T fill 64 56 120 26.4 93.6
175 {2 Hh S 68 63 131 36.4 94.6
176 fiz Y oNE 66 65 131 36.4 94.6
177 {2 ATy 5+ 68 67 135 404 94.6
178 7 fREE 75K 71 63 134 36.4 97.6 BBE

179 7 A B 70 73 143 40.4 102.6




